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November 8, 2008 Cedar Ridge Middle School 6™ Grade Test

The value of 1.4 + 0.03 + 0.009 + 7 is
a.0.033 b. 8.016 c. 1446 d. 8.439

4+2x3-4+2+3=
a. 10 b. 1 .5 d. 11

Your average for the first 4 tests is 88. What must you score on the next test in order for your
average on the five tests to be at least 90?

a. 100 b. 98 c. 92 d. 94
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a. 0.041 b. 0.104 c. 0.194 d.1.94

Daniel worked 8 hours on Saturday and earned $26. How much did he earn per hour?
a. $3.25 b. $3.08 c. $3.33 d. $3.50

What is the height of a triangle with a base of 6 units and an area of 27 units”?
a. 4.5 units b. 9 units c. 18 units d. 11 units

Which of the following numbers is not divisible by 3 (with no remainder)?
a. 12,043,821 b. 91,240,615 c. 2,011,785 d. 5,261,001

If a whole number N is divided by 13, the quotient is 8 and the remainder is 12. What is the sum of
the digits of N?
a6 b. 8 c.b d. 11

What is the sum of the largest number and the smallest number: 0.3, 0.31, 0.305, 0.0309?
a. 0.3309 b. 0.605 c. 0.3409 d. 0.61

How many degrees are in the smaller angle formed by the hands of a clock at exactly 4 o'clock?
a. 40 b. 20 c. 120 d. 100

If two-fifths of the 30 math team members are boys, what is the ratio of boys to girls?
a.2to3 b.2105 c.3t05 d.5t03

Sarah lives 2.7 miles from school. This year she has made 150 round frips from her home to school
and back on her bike. How far is this altogether?
a. 810 mi. b. 202.5 mi. c. 405 mi. d. 863.2 mi.

7
Express — as a decimal.
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a.0.636 b.0.636 c.0.63 d.063
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Fred phones every 3 days, Barney every 4 days, and Wilma every 8 days. If all three phoned on
October 27, on what day will all three phone again?
a. November 25 b. November 5 c. December 20 d. November 20

What is the sum of all the whole number positive factors of 42?
a.79 b. 96 c. 36 d. 53

Ivy baked brownies for math team practice. She baked them in a 8 in. by 12 in. pan. How many
students can she serve if she cuts them into 2 in. x 2 in. squares and serves one per student?
a. 48 b. 16 c. 22 d. 24

One liter contains 1.8 ounces more than one quart. How many ounces are in a 3-liter bottle of
Mountain Dew?
a.53.4 b.101.4 c.77.4 d. 1134

What is the sum of the prime numbers between V25 and /400 ?
a.72 b. 67 c.76 d. 81

Chris bought one dozen chocolate covered donuts for math feam practice. He ate one-third of them
on the way to school. Jon ate one-fourth of the remaining donuts before practice began. When Bob
arrived, he ate all that were left. How many donuts did Bob eat?

a3 b. 4 c.5 d. 6

The measure of three angles in a quadrilateral is 90°, 130°, and 55°. What is the measure of the
fourth angle?
a. bb° b. 65° c. 75° d. 95°

What is the positive difference in the sum of the composite numbers between 10 and 20 and the
sum of the prime numbers between 10 and 20?
a. 15 b.0 c. 30 d. 35

If 5a = 70 and 8b = 20, what is the value of ab?
a. 28 b. 35 c.165 d. 90

What is the measure of the supplement of a 50° angle?
a. 130° b. 40° c. 30° d. 110°

Elisa bought 2 pounds of gummy bears at $2.50 per pound and 3 pounds of gooey bears at $4.00 per
pound. What was the average cost per pound?
a. $3.10 b. $3.25 c. $3.40 d. $1.25

By how much does the product of 3, 4, and 5 exceed 3° + 4% + 572
a. 10 b. 48 c.58 d. 20



Tie Breakers
1. What is the sum of all the factors of 91?

2. What is the 12™ number is the following sequence?
1,4,9,16, 25, 36,..

3. The perimeter of a regular octagon and a regular hexagon are equal. If the length of one side of the
octagon is 7.5 cm, what is the length of side of the hexagon?



